it

1]

S FIITE

N
Inth
i
Z
i
%}#
Aﬁ ______E
S
Mmm 111
KETAN
% 4=
&=
111 —+—
1 o
Iz 4
i/ =
R OR
i feia

(3 HER)




TR EERTETHEECFRETFEFNSHMETR (83 75)

THICEEERTOEEREECEFRMFERISFHMETHE (B3 5) I, RITEDLEZAIZLD,

Gk T DA IE)
1k BABHTEORBEIIBRARHEZNEN4 3 9THZENML, BABRHTROBEZBAREZNLZEN
1, 923FHET%,
2 MAMHTREOMIEDKIED Xy K OYHERS T & DOLEFET NI ESOMARETROSHEL, TH 1%
A TRAIE] ITX D,

G244 3H31H B e

EXRfR = @ B W



1,404 439 1,843
1,403 439 1,842
1,484 439 1,923




1,186 439 1,625
1,186 439 1,625
1,484 439 1,923
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1,403 439 1,842 439
669 + 426 = 1,095
34 + 13 = 47
703 + 439 = 1,142
703 + 439 = 1,142
1,403 439 1,842




1,186 439 1,625 28 439
439
1,186 + 439 = 1,625
1,186 + 439 = 1,625
1,186 + 439 = 1,625
1,186 439 1,625 439




